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December — Examination 2022

Post Graduate Diploma in Labour
Laws Examination

Labour Jurisprudence and the I.L.O. 1. (i) Labour welfare
Paper : PGDLL-05 ST FHEAT
Time : 3 Hours | [ Maximum Marks : 100 (i) Social security
Note .— The question paper is divided into three Sections TSR Rt

A, B and C. Write answers as per the given (i) Badli workman

instructions.
et .- 7' wea-wF ‘e, 9 SR ‘E R mvel | fawifsa ®) A FH
Y% WU % RIER 99 % SR e | (iv) Protected workman
Section-A 10x2=20 fega wHER
(Very Short Answer Type Questions) (v) Tribunal
Note .— Answer all questions. As per the nature of the |

question delimit your answer in one word, one
: vi) Trade union
sentence or maximum up to 30 words. Each V)

question carries 2 marks. RIEEIREN ]
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(vii) Permanent Lok Adalat 2. Explain the concept of “Social Security”.

R Wi SASTed ‘grSTeR R’ i STIEROT i faee wifT |

(viii) Habeas corpus writ . ) . e
3. Explain the term ‘Industrial Dispute’. Distinguish

Tl geaie e o . . L
between individual dispute and industrial dispute.

(ix) Children’s welfare

‘Strenfirer foarg’ efeafe &t =aren wifse | =AfFa
faae @ fenfe faar § i@ wdEw|

S=el ST ShedTol

(x) Bonded labour
4. Discuss rules of ‘Natural Justice’.

YT TSI
Section-B 4x10=40 Wihfih =a & fEl w6t fae=m wifs
(Short Answer Type Questions) 5. Discuss the main characteristics of Labour.
Note :— Answer any four questions. Each answer should not g9 &1 foRemst | g sifaw)

exceed 200 words. Each question carries 10 marks. 6. Explain it ‘International Labour Office’.

gug—a
(g T q99)
feor:- f=l IR 9ol & SW SfSUl 39 o9H IR OHI
sffereRag 200 vi5i A UREifia wifsT vow w9
10 3/ =7 & 3N 5\ Ft ScAeEwT § gfg ¥ gema Tl

‘RIS o e’ SHEET

7. Give suggestion for improving productivity of

industrial labour.
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8. Write short notes on any two of the following :
(@) Permanent total disablement
(b) Strike
(c) Lockout
frafafed § @ fvgl @ W dfea feofer fafe
(31) womft qul ST
(9) Tga
(@) <t

9. What 1is the role of International Labour

Organisation to protect the child labour.

ATH T TR H ARSI 9H TS hi Y F:a

7?2

Section—-C 2%x20=40

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 20 marks.
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10. Discuss the composition and powers of the various
authorities set up for adjudication of Industrial

Dispute under the Industrial Disputes Act, 1947.

strenfirer foamg sifufm, 1947 & stia sirifs faam
% = v &g Tenfua fafi= wiftesfEt & wed qen
STt A w1 fae=m wifew)

11. Define ‘International Labour Organisation’. What

are the objectives and functions ? Explain it.

o

‘SRS oW WISA Rl YRS i SRR

Y TS & ST a1 w1 = € ? GHART

12. What is the role of International Labour
Organisation to protect the child labour and

women.
Tfeesil IR ST 99 & WA H FRCT A TS
I gfgeRt = ¥ ?
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13. Discuss any leading case of this causes with facts,
judgements and principles of law.
A UeEwH H 9 fRE e yHE 9k & e, e
w9 fafy & yga fagea &1 fag=m wifsm
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